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Chapter 1

Select the correct answer. The real part of (sin 0 +i cos 8 )% is :

(i) -cos 56
(i} -sin 508
(iii) sin 56
(iv) cos 58

Prove that :

(@a+ib)™" 4+ (a-ib)™" = 2( a? + b?) cos((frac{m}{n}tan*{-1} frac{b}{a}})

if e@+P = a4ip prove that :
t‘.IZ ¥ ﬂzze-nﬁ-[ﬁfm‘l}l

Sum the series :

a ol e 2
e“cos B ” cos3pB + - cosop - ... o
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Define and write linear differential equation of n'" order.

Solve :
(D2 + 4D +3) y = x%e® + cosx

Solve by the method of variation of parameters :

d*y
el tanx

Solve :
d‘zy ;_-Ey 3
(1+x)2 72 +(1+x) 2= 4 sin (log{1+x))
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Represent j:]ﬁfz sin™ @ cos" 6 dB where m and n are positive integers, in terms of Gamma function.

Find by double integration, the area lying between the parabola y = 4x - x% and the line y

= X.



Change the order of integration and evalute :
2/4a

2a px
i 5 J; . Xydxdy
Compute :
JI]—2=
{m+y+z+l
if the region of integration is bounded by the co-ordinate planes and the plane x+y+z =1.
Chapter 4 CSVTUonline.com

A unit vector normal to the surface xy®z? = 4 at the point (-1,-1,2) is

If A= (322 + 6y)I — 14yzj + 20222 K evaluate fﬁ dR from (0, 0, 0) to (1, 1, 1)
along the path x =t, y = £, z= 13

Using divergence theorem evaluate
[F. dS whare F = 4z] — 2y?j + 22K

and S is the surface bonding the region x* + y? = 16,z = 0, and z = 6.

If f =(x% + y% + z2)™ find div grad f and determine n if div grad f =0
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The trnsformed equation of *> — 6x2 + 5z + 8 =0 into another in which the second
term is missing is .......

ifa, B,y be the roots of z® — Tx + 6=0 from an equation whose roots are :

{“'E)Er{ﬂ"f}z:{?'ﬂ}z

Solve by cardan's method, the equation :
z® — 3z +1=0

Solve by Ferrari's method, the equation :

xt — 10z + 3522 — 50z + 24 =0



